STPinwheel(N:=1) Slopes:
#bins=100, #tiling points = 4
Time Taken: 5.08154 sec (0.0846923 mins)
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STPinwheel(N:=4) Slopes:
#bins=100, #tiling points = 144
Time Taken: 394.802 sec (6.58003 mins)
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STPinwheel(N:=2) Slopes:
#bins=125, #tiling points = 8
Time Taken: 29.506 sec (0.491767 mins)
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STPinwheel(N:=5) Slopes:
#bins=125, #tiling points = 685
Time Taken: 3416.18 sec (56.9363 mins)
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STPinwheel(N:=3) Slopes:
#bins=150, #tiling points = 34
Time Taken: 97.5416 sec (1.62569 mins)
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STPinwheel(N:=1) Slopes:
#bins=350, #tiling points = 4
Time Taken: 8.49378 sec (0.141563 mins)
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STPinwheel(N:=4) Slopes:
#bins=350, #tiling points = 144
Time Taken: 399.901 sec (6.66501 mins)
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